<A >

RHNEFE A DDRIESEINZAR

(et - )
B B & BB B =
s D < D3R 9,110,000 [Bm%ii&, EHEHEESHBITE
BEERSE 2,236| 2
: 9,112,236
<Xt > (et < )
5 B & B8 B =
e 1,200,952
A2 501,464
KT 789,488
EFRT 7.821,284
JN— R 4,307,321
VD s 3513963
: 9,112,236
(et : /)
TR O




ON—FSENAR

.EERQ A+

e A 5 & @
ABHEE BEBIE - LBBIBHR 209,000
MEUATTEX B8k 783mX3.5m 1,175,000

5T 1,384,000
EREAE (SIENHEE)

e A 5 & @

t 0
WIS - BB ORERREDH)

e A 5 & @
AsTEE—1THX friBkTERE& (FAEBin) 2F 163,735
AETEB=1THX poIEkTERE 1& 70,000
A= HFEEMITHX BoIEATERE (TIRBER) 28 140,000
TUAGTER PBE 18 110,000

Ell 483,735
mo-JS5-

e ” 5 & @
BEHEENGTHK PIE 150,000

5T 150,000
WAED
e ” 5 & &
t 0
WIR SR
e ” 5 & =
;t 0
B SERFHE
e ” 5 2 =
t 0
B ARBSHE
EIBE R A 5 & @
BEBEE_HK HEBERHE 519,200
5T 519,200
WERSHE
EIEER ” 5 & &
it 0
WO SREESER
=EER ” 5 & =
t 0




BSBFER

RHEEMR 2 5 & %
AEHEE—THX AETHBOTEDERHRE 17,000
BEEHEE_TBK )15 XD BRI 20,000
BEHEEDTEK DRI B0 SR 35566
REHEGTBR BHEISY FHITY20SND 19,800
ABBTBIX BIBRISEND - BRIEE. ARDIRSARDS 59,311
BE_HIRK £/ WARSEEDEEER 7,842
EIPTTBIX IR A S 39,894
SHEII1-T (58 SHERERREE SHEI5Y RIEFES 70,000

it 269,413
WIS EEEN
EHEELR 2 5 & @
st 0
WIS S5 HE

EHEER " 5 &
ST e B —THX LEDfE 1% 56,265
REFETHKX LEDIE 2% 100,000
ABBITEIX LEDIE 4E RTEE1E 200,000
BEITHEX LEDIE 2% 70,000
BAGBX LEDfE 2% 100,000
T APTBIX LEDfE 3E 150,000

st 676,265
B AREESHRER

EHEE " 5 %
RSHETBX PRSI SEEN, RIRMEA 47,500
ABBTEIX HRH5%E. BFLYY. BFRy FEA 110650
ERIPTBX IPIVEA 150,000
TFURERES R RER 96,000
BT E R R 77,990
AEHEE_THK EHTIYEA 99,000
AEHEEDTHX RET—JIVBA 90,750
BATBX KDBTRU 5> D% v U — A 688
SBEII1-7 (&8 XEEABOX. BEEMABFHEA 152,130

st 824,708
W55 PR R AL
EHEEME " 5 & @
st 0
mZOfth

EHEEM " 5 & @

&t 0
\—FEEEES 4,307,321




OVYT FEENR

BEEFEEE
EheER A = =& (A
Da—D31) -8 95,295
THEODENEE 27,930
BORIBHEFZE 10,792
EHFBEIZI "T85 %ﬁléu BB 56,025
EFBRE (HAODHFFER ) 350,000
Szﬂz%&%% (B430=FHFBMXSEEH) 189,985
HhE BRI SEE 31,341
5t 761,368
WO HENEEE
EhieER A B =& (M
ASHEHEMNTHK (3THX) |pHSEEESsE 59,026
RBLREHE (13D RBLEEIBINEE 182,250
ASHFEE—TEX (MOTHX) |E5 U\ SIBRIRESZE 374,159
BE— « BOHEKX BAR—Y{gESE 15,508
EANDST W18 mHELEE RN—ViREIEEE 110,000
ASTEE_THK (M5THKR) |HNEEHE 140,716
RETHNSHESHRER YERBEREHE 30,000
AZSHEE_THK I3THX) [#D< Diigisns 142,330
B FBRERES (8T =it « =R IR GBI B E 326,677
5t 1,380,666
B ZDMBES
EhreER A = &8 (M
B GEIRIESEE 380,750
SEIERSS=EE 148,890
D) = RIFESE 170,611
BV EENEZE 83467
SHFEII2 T 1 5E {E— R8N BEE 199,800
EE%Ei@E%EBi%’ﬁE%E’H" 122,407
IRE - £ ETENTEE B 6,000
I "T 1 RDU—)UVRESE 102,000
BFEEII2 T rRELCKD] RITBE 158,004
5t 1,371,929
VD EXEESE 3,513,963




